FLUX SDSS

N =127 : ¥2,=0.78 ; A=0.99(0.02) ; B=0.04(0.00)
\ \ \ \ \

\

10.0000 B
1.0000 - 2 ]
0.1000 & e aa g m
0.0100F B | )
OOOOW _ | | | | | B

0.00017 0.0010 0.0100 0.1000 1.0000 10.0000
FLUX MANGA



arcsec

arcsec

15

10

-10

-15

15

10

-10

-15

MANGA

Frrrrr[rrrrryrrrr|rrrrrr o

LI S B B N L L S B B B B L L S B B S B B B B B B R

PR S S S S R A S T S S S T S S T [N S S S S S S SR S S ST S A S S S

Lo o by v by by by oy by oy gy |

—-10 0 10
arcsec

AxMANGA+B

Frrrrr[rrrrryrrrr|rrrrrr o

LI S B B N L L S B B B B L L S B B S B B B B B B R

PR S S S S R A S T S S S T S S T [N S S S S S S SR S S ST S A S S S

Lo o by v by by by oy by oy gy |

—-10 0 10
arcsec

arcsec

arcsec

15

10

-10

-15

SDSS

Frrrrr[rrrrryrrrr|rrrrrr o

LI S B B N L L S B B B B L L S B B S B B B B B B R

Lo o by v by by by oy by oy gy |

PR S S S S R A S T S S S T S S T [N S S S S S S SR S S ST S A S S S

—-10 0 10
arcsec

XZZ (A*MANGA+B*SDSS>2/<(A*UMANGA>2+U§DSS>

15

10

-10

-15

Frrrrr[rrrrryrrrr|rrrrrr o

LI S B B N L L S B B B B L L S B B S B B B B B B R

Lo o by v by by by oy by oy gy |

PR S S S S R A S T S S S T S S T [N S S S S S S SR S S ST S A S S S

—-10 0 10
arcsec



ADEC

XZ
0.4 [T T 0207 £ Wa 0217 W T T
O.2} 0.216 0.916
. o o 0014 © 0.214
0.4 0.213 0.213
0.6 = _:'_:. 0.212 || L 0.212 F M. ‘m |

08 ] O.QWW;‘ N RN BN B ‘\“‘; O.QWW;‘ N R BN BRI B B
-0.6 -04-0.2 00O 0.2 04 0.6 -0.6 -04-0.2 00O 0.2 04 0.6 -0.8-06-0.4-0.2 0.0 0.2 04

ARA ARA ADEC
ARA=—-0.17/ ADEC=—-0.22 6=0.21

A L B L B e e e B O T T T T T T T
of ‘ oL |

5L —5 oo

—qofTTT o .

-15r 15+ |

=200, 1 | ] =20 0 ]

-06 -04 -0.2 0.0 0.2 0.212 0.213 0.214 0.215 0.216

ADEC 0



FLUX SDSS

Ny =127 : ¥2,=1.28 ; A=1.01(0.02) ; B=0.00(0.01)

10.000

1.000

0.100

\ \HHH‘
N
T

\ \HHH‘

0.010

0.007

0.007 0.010 0.100 1.000 10.000
FLUX MANGA




arcsec

arcsec

15

10

-10

-15

15

10

-10

-15

MANGA

Frrrrr[rrrrryrrrr|rrrrrr o

LI S B B N L L S B B B B L L S B B S B B B B B B R

PR S S S S R A S T S S S T S S T [N S S S S S S SR S S ST S A S S S

Lo o by v by by by oy by oy gy |

—-10 0 10
arcsec

AxMANGA+B

Frrrrr[rrrrryrrrr|rrrrrr o

LI S B B N L L S B B B B L L S B B S B B B B B B R

PR S S S S R A S T S S S T S S T [N S S S S S S SR S S ST S A S S S

Lo o by v by by by oy by oy gy |

—-10 0 10
arcsec

arcsec

arcsec

15

10

-10

-15

SDSS

Frrrrr[rrrrryrrrr|rrrrrr o

LI S B B N L L S B B B B L L S B B S B B B B B B R

PR S S S S R A S T S S S T S S T [N S S S S S S SR S S ST S A S S S

Lo o by v by by by oy by oy gy |

—-10 0 10
arcsec

XZZ (A*MANGA+B*SDSS>2/<(A*UMANGA>2+U§DSS>

15

10

-10

-15

Frrrrr[rrrrryrrrr|rrrrrr o

LI S B B N L L S B B B B L L S B B S B B B B B B R

PR S S S S R A S T S S S T S S T [N S S S S S S SR S S ST S A S S S

Lo o by v by by by oy by oy gy |

—-10 0 10
arcsec



ADEC

XZ

(O I L B B 02W7§“‘ e R P e e R T “‘; 02W7§““ e R “é

O.Z:* * 0.216 0.216

0.0} * 0.215 0.215
fO.Z:* * © 0.214 © 0.214
—0.4r * 0.213 0.213
—046} { 0.212 -l . 0.212 i . m i
470.8:‘ T IR R \“..J { \" ] 0.211 é“‘ I NS RPN BRI B g 0.211 g“‘ Lo b L ]

-0.6-04-02 00 0.2 04 0.6 -0.6-04-02 00 0.2 04 0. -0.8-0.6-04-02 00 0.2 0.4

ARA ARA ADEC
ARA=—-0.17/ ADEC=-0.17/ 6=0.21

oF ‘ - ol ;

T T

-10F 7 -10F

15+ —15F J

200, ., L L =20 0 ]

-06 —-04 -0.2 0.0 0.2 0.212 0.213 0.214 0.215 0.216

ADEC 0



FLUX SDSS

N =127 ; ¥2,=0.88 ; A=1.03(0.02) ; B=0.03(0.01)
\ \ \ \ \

10.0000 -

1.0000 [~

0.1000 =

0.0100 - . i

0.0010 F i

0.0001 =7~ | | \ » » ]

0.00017 0.0010 0.0100 0.1000 1.0000 10.0000
FLUX MANGA




arcsec

arcsec

15

10

-10

-15

15

10

-10

-15

arcsec

AxMANGA+B

arcsec

arcsec

arcsec

15

10

-10

-15

15

10

-10

-15




ADEC

2
X
0.6 T T T T T 0.217 F e T T e ] 0217 E g s T ]
0.4 0.216 F 0.216 F
0.2+ 0.215F 0.215F
0.0F © 0.214F © 0.214F
—0.2f 0.213F 0.213F
—0.4¢ 0.212F . S 0.212F . L -
06l 0211 b e e e ] 0211 b e e e ]
~0.6 -0.4 —0.2 0.0 0.2 ~0.6 -0.4 0.2 0.0 0.2 0.4 06 ~0.6 -0.4 0.2 0.0 0.2 0.4 0.6
ARA ARA ADEC
ARA=-0.17 ADEC=-0.17/ 0=0.22
R "] [T L L L L "] M R L L LR
O, -
7WO—7777777””””77777””””7777777”””7—
7w5— 4
=200

0.212 0.213 0.214 0.215 0.216
0




FLUX SDSS

N =127 : ¥2,=0.86 ; A=0.99(0.03) ; B=0.07(0.01)
\ \ \ \ \

10.0000 —

1.0000 - el =

e
!

0.1000 — | -

0.0100 E SZ=i: i

0.0010 | -

00001 F .

0.00017 0.00170 0.0100 0.17000 1.0000 10.0000
FLUX MANGA




MANGA SDSS

arcsec

Frrrrr[rrrrryrrrr|rrrrrr o

LI S B B N L L S B B B B L L S B B S B B B B B B R LI S B B N L L S B B B B L L S B B S B B B B B B R

10

-10

Lo EREE L

o+ e

Lo o by v by by by oy by oy gy |

-15

Lo o by v by by by oy by oy gy |
arcsec
(@]
Frrrrr[rrrrryrrrr|rrrrrr o

PR S S S S R A S T S S S T S S T [N S S S S S S SR S S ST S A S S S PR S S S S R A S T S S S T S S T [N S S S S S S SR S S ST S A S S S

—-10 0 10 —-10 0 10
arcsec arcsec

AxMANGA+B Y= (A+MANGA+B—SDSS)? /((A*0yunea) T 2pss )

arcsec

-10

-15

arcsec

[ R . ] [ ]
C Lo 4+ 4+ 44 ] C ]
! o4+ o+ 4+ o+ o+ oy . - .
- . L . . . o I RN . - .
- —_ 5._ —_
L ] O L ]
L 4 13} L 4
- - (0] - -
L 4 O O_ 4
|-

L ] S L ]
- —_ 75._ —_
. 7W5111

—-10 0 10
arcsec



ADEC

0.2
0.0
-0.2

-0.4

O 407777
\ \

-10
-15

~20¢

ARA=-0.07/
SR e

-0.6-0.4-0.20.0 0.2 0.4 0.6
ARA

0.217

0.216

0.215

0.214

0.213

0211, . .

—-10
—-15

-20

X

0.212F

|

-0.5

0.0 0.5
ARA

1.0

ADEC=-0.22
S —

-0.6 —-04

-0.2 0.0

ADEC

0.217

0.216

0.215

0.214

0.213

0211k .. e
~0.8-06-0.4-02 0.0 0.2 04

-10
-15

=200

||u'||

0.212F

ADEC

0.212 0.213 0.214 0.215 0.216

7]



